Chemistry Study Sheet
ch 6
Name____________________
                                Date_________

Know the Definitions
Answer the following questions in the space provided.
1.  List in order the steps to balancing a chemical equation.

2.  What does it mean to refer to an equation as balanced?

3.  Predict and write the products for the following reactions then write balanced equations for each below the word equation.

a. Chlorine + strontium iodide( 

b. Potassium hydroxide + Hydrochloric acid(
c. magnesium + water(
d. Carbon dioxide + water (
4.  A student placed 16.5 g of aluminum metal into a water solution of hydrogen chloride (hydrochloric acid).  All of the aluminum reacted to form aluminum chloride and hydrogen gas.  No precipitate was observed.  The student later evaporated the water to leave solid aluminum chloride.

a. Write the balanced equation for the above reaction and use the correct symbols 
     for the physical state of each substance involved.


b.  How many moles of aluminum did the student use in this reaction?


c.  How many grams of hydrogen were produced in this reaction?


d.  How many grams of aluminum chloride were produced by the reaction?

5. Write balanced formula equations for the following chemical reactions underneath the word equation

a. Iron + sulfur( iron(II) sulfide

b. aluminum + iron(III) oxide ( aluminum oxide + iron​​​​

c. ammonium nitrite ( nitrogen + water 


            Hint nitrite is NO2 with a -1 oxidation.

6.  The following reaction takes place.  sodium + water ( sodium hydroxide + hydrogen.

a. Calculate the number of moles of hydrogen that will be produced if 10.5 g Na 
are reacted.

b. Calculate the number of grams of hydrogen that will be produced in this same reaction.

7.  Write the symbol used to indicate each of the following physical states.


_______ Gas
_______ solid


_______ Liquid
_______ water solution

8.  Complete each word equation and write the balanced chemical equation under the word equation and tell what type of reaction in the blank to the right.

________________ Aluminum sulfate + calcium phosphate(
________________ Magnesium chloride + silver nitrate (
________________ Hydrogen gas + oxygen gas(
________________ Sodium iodide + chlorine gas (
9.  How many grams of hydrochloride acid are required to react completely with 40.5 grams of calcium hydroxide?

10.  In the decomposition of potassium chlorate, 25.3 g of oxygen gas are formed.  How many grams of potassium chloride are produced?


12.   _____ Cu(s) + _____ AgNO3(aq) ( _____ Cu(NO3)2(aq) + _____ Ag(s)


If 3.5 moles of copper and 5.5 moles of silver nitrate are available to react, what is the limiting reactant?

13.   ____ CaO(s) + _____ H2O(l) ( _____ Ca(OH)2(aq)


How many grams of calcium hydroxide will be formed in this reaction when 5.44 g of calcium oxide and 8.77 g of water are available to react?  Also identify the limiting and excess reactants.

